H
No. 1
I7E-#E ST g = REtHE| B k=
BEYREL
<t@EBEYRELI>
52.00 + 4.00 = 56.00 56. 56
ShLE R U 15emELF m
32.00 + 1.3 = 33.30 33. 33
SR INRAE m2
B 5.00 b. 5
WH)-MEEYEE L[ &S m3
B 1.00 + 0.1= 1.10 1. 1
WYY -MEEYEE L |85 m3
< BHgANIET >
INREE 33.30« 0.05= 1.67 1. 2
E i 2tD 12kmLLF m3
HE e T 5.00 b. 5
E i 10tD  10. 9kmLLF m3
HE e T 1.10 1. 1
E i 10tD  10. 9kmLLF m3
1.67 1. 2
o5 TA77) MR m3
5.00 b. 5
ns W))-ME ER m3
1.10 1. 1
ns V-8R BkER m3




No. 2
THE - B Hg g = 2| B4
BT
<{EELXI>
17.80 + 1.1 = 18.90 20
RiE Y INRE m3
INREE 540 + 0.5= 5090 6
HREL AL m3
<WBEIMIET>
18.90 - 13.00 = 5.90 6
T HEER RE~REFZ~RIG m3
IHiZ ~ Ao Hh 18.90 - 5.90 = 13.00 10
TR ERR INRFE 41D 6kmLL T m3
13.00 10
EXENS wEL m3
BEKEEY T
<fEI>
BHHBQERIE 12.00 + 34.00 = 46.00 16
HEWrKER T 1 &Y 300%300 m
B 4B A& 135° a—F — 1.00 T
HEwr KR T 2 B 300%300 =
REZALH S 1.00 1
£ KkHT 500%500%500 AT
1.00 1
IEJKEET %
1.00 1
R4t /Ki& T =&
2.00 2
Moo )— bk |18-8-25BB m3




No. 3

Iig - #i8 Mt g 2 RETHE| B iEE

ok

ik T

SEERET
10.70 + 0.70 = 11.40 1.4 1
TREEIE 2 FM-30  t=3cm m2

FRI7ILEEET

EES 15.90 + 0.60 = 16.50 16.5 17
(B - BRIFHED) PEAEFIRC-30  t=10cm m2

N =fE 3 15.90 + 0.60 = 16.50 16.5 17
(BB - BRIFHED) PRAZFIM-30  t=12cm m2

E3E 26.60 + 1.30 = 27.90 27.9 28
(B - BREED) BAZHAEAS (13) t=5cm m2

1.00 1.0 1




# = i ;
_ _ _ No. 1
. RIE HER BURGET) BiREX )
p: =t XMEER | Brm | F 5 | 32 B | Br | i) Br m L 1 L Wr m | F 1§
BT @ [iz1] T | W m
No.0 0.30 0.10 0.10 0.02
No.0 0.30 0.30 3.5 0.10 0.10 0.10 0.10 0.02 0.02
+ 11.80 11.80
No.0 0.40 0.35 2.9 0.10 0.10 0.10 0.10 0.02 0.02
+ 20.00 8.20
No.0 0.30 0.35 7.0 0.10 0.10 0.10 0.10 0.02 0.02
+ 40.00 20.00
No.0 0.30 0.30 3.0 0.10 0.10 0.10 0.10 0.02 0.02
+ 50.00 10.00
135° a—5—%f 3.3%0.3= 1.3]3.3%0.1=
(50.4-50.0)%0.3= 0.1](50.4-50.0)%0.1=
50.0 17.8

op




%31 == g : 3
_ No
B 2)—k
DU XfEwERE | B m | £ ¥H | 1 B | WHmE|FH| I Wrm | F ¥ | i Wrm | F ¥ | i
Wi Br T W BT T
No.0 0.04
No.0 0.04 0.04 0.5
+ 11.80 11.80
No.0 0.04 0.04 0.3
+ 20.00 8.20
No.0 0.04 0.04 0.8
+ 40.00 20.00
No.0 0.04 0.04 0.4
+ 50.00 10.00
50.0 2.0

op




# == it H ;
_ _ _ _ No.
g 3¢ ) — BETE — EEOR — TEEC
B 5 |XMEE|BE|EH| F B |BE | FBH|F B |BE|EH | F B|BE|FH| F R
e 8 e 8 e 8 e 8
No.0 0.60 0.30 0.30 0.20
No.0 0.60 0.60 71 0.30 0.30 3.5 0.30 0.30 3.5 0.20 0.20 2.4
+ 11.80 11.80
No.0 0.60 0.60 49 0.30 0.30 2.5 0.30 0.30 25 0.20 0.20 1.6
+ 20.00 8.20
No.0 0.60 0.60 12.0 0.30 0.30 6.0 0.30 0.30 6.0 0.20 0.20 40
+ 40.00 20.00
No.0 0.60 0.60 6.0 0.30 0.30 3.0 0.30 0.30 3.0 0.20 0.20 2.0
+ 50.00 10.00
135° :l—j'—%[s (1.73+3.3) /2%0.8= 2.0)(25+09) /240.8-(1.6+0.65) /2+05= 0.8](25+0.9) /2%0.8-(1.6+0.65) /2+0.5= 0.8 (1.6+0.65)/2*0.5= 0.6
(50.4-50.0)%0.3= 0.1(50.4-50.0)%0.3= 0.1}(50.4-50.0)%0.2= 0.1
50.0 32.0 15.9 15.9 10.7

op




_ No. 4
==
B = XfiEg | 28 8 | £ ¥ | F B | RBE|FEFY | ¥ BE|RBE|FEFY| T BE|RBE|FETH| F B
e 8 " 8 e 8 B 8
No.0 0.50
No.0 0.50 0.50 5.9
+ 11.80 11.80
No.0 0.50 0.50 4.1
+ 20.00 8.20
No.0 0.50 0.50 10.0
+ 40.00 20.00
No.0 0.50 0.50 5.0
+ 50.00 10.00
135° a—4—3& (2.5+0.9) /2*%0.8 1.4
(50.4-50.0)%0.5= 0.2
50.0 26.6
a5 &




Mt K ER T 12

B H &) 815 300%300 10m Y
I i@ 1 = B L = E=

BARAERAGE

300%300 10.00 / 2= 5 & 5.0
HEEar9)—k

18-8-40BB 060 * 015 * 1000 = 0.90 m3 0.9
HE#Ear9)—k

iy eg 0.15 * 2 * 1000 = 3.00 m2 30
A I\—kavo)—k

18-8-25BB 030 * 005 * 1000 = 0.15 m3 0.2
TL—F5E

BYLHEAT T LE 105 5.00 b4 5.0
avo)—k&E

5.00 ® 5.0

Mt KR T 28
B AEAIE135° O—F— 300%300 1R H7-Y
T & = B L = E=

BARAERAGE

135° 3—3—300+300 4.00 {& 4.0
HE#Ear9)—k

18-8-40BB 060 * 015 % 440 = 0.40 m3 0.4
HE#Ear9)—k

iy eg 0.15 * 2 % 440 = 132 m2 1.3
A I\—kavo)—k

18-8-25BB 030 * 005 *x 440 = 007 m3 0.1
avo)—rk=E

BB REEH135° I—F—W300R 4.00 *5[ 4.0




kT

7] 2% 4 2 {8 & FA 500%500%500 1H LY
I i# g = =R v =
AT 2 4 B {8 FR
500%500%500 1.00 & 1.0
HEwEaro)—k
18-8-40BB 082 * 082 % 015 = 0.10 m3 0.1
HEwEaro)—k
piy e 082 * 4 x 015 = 049 m2 05
AN—kavHy)—k
18-8-25BB 050 * 050 * 0075 = 002 m3 0.02
1E/KEET
18T &1=Y
I i@ = = B {514 =
R o) —k
18-8-40BB 015 * 0445 *( 030 + 0312 )/ 200 = 0.02 m3 0.02
Eilp e
INEY 015 * 200 + 0.156 * 200 )* 0445 = 0.27 m 0.3




/KR T

1Ry
T 23 = EX 5[ 5=
B —F
18-8-40BB |( 050 * 0545 -( 030 + 0250 )/ 200 *(0.395 +
0363 )/ 2.00)* 022 = 0.04 m3 0.04
s
INEY ( 0242 x 300 + 0.266 )* 0545 = 0.54 m 0.5




